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Correction   

 

Multiplier un nombre décimal par 

un entier  

 

❶ Effectue ces opérations  

 

  

 

 

 

 

 

 

 

 

               

 

 

 

 

 

 

❷Pose et effectue ces multiplications 

 

45,8 x 8  =                                              7,086 x 53  =                                      0,04 x 72=  

               

   

 

   4 , 7 

x     5 

  2 3 , 5 

  3 7 , 8 5 

x      9 

 3 4 0 , 6 5 

   6 , 7 8 

x     2 7 

   4 7 4 6 

  1 3 5 6 0 

  1 8 3, 0 6 

  0 , 2 3 

x    6 5 

   1 1 5 

  1 3 8 0 

  1 4, 9 5 

   7, 0 8 6 

x     5 3 

  2 1 2 5 8 

 3 5 4 3 0 0 

 3 7 5 , 5 5 8 

   4 5, 8 

x     8 

  3 6 6, 4 

   0, 0 4 

x    7 2 

    0 8 

   2 8 0 

   2, 8 8 
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